A & 0l & AH & H Al A
20158 20iat LetalH AEE
SN AEZ
HH: HAH2LTHI(MHEE)
&l: J1=3H| (el &)
SA - B SRI(E) - NIRAIY - BES il st o HIDEY
MEE 354,280 351,488 2,792
HAERHAHI(MES) 121,150 128,318 AT,168
Jl=&H4l 121,150 128,318 AT,168
Jl=3H 121,150 128,318 AT,168
201 Ze+24H| 70,750 75,518 N4,768
01 At22teld] 42,250 44,518 A2,268
O 2gt=8H| 42,250
0 JISAIRESHI 100,000& 209! 2,000
0 MRIIDI & HAARSE 11,500,000& 11,500
0 JIEF2ZHI 17,350,000& 17,350
0 TESAFALDERY 150,002 1074 1,500
0 =AY 50,00024%101%114 5,700
0 SHHR =G A 7,000&%2021+302 4,200
02 3524l 28,500 31,000 A2,500
O 2323 & MAl 16,500
0 RER= 3,000,000& 3,000
0 &IL3S 12,000,000& 12,000
0 =EL3ANANSUS 1,500,000& 1,500
O ¢l 1,000,000& 1,000
O EAMAIE =Xl 4,000,000 4,000
O Xe&sAll| 7,000,000 7,000
202 Oid| 50,400 52,800 A2,400
01 2] 50,400 52,800 A2,400
O Jl=gR=a0t| 200,000&*2021x12& 48,000
O S0 10,0002 x20Q1 122 2,400
HHTANRH(MEE) 11,600 11,640 A0
FHNEE2SE 11,600 11,640 A0
eI A 11,600 11,640 240
203 HRF&H| 11,600 11,640 240
01 J|22dPRF8| 6,600 6,600 0
O J2=2dge=d 6,600,000 6,600
02 HRIHHRFAH] 800 840 A0
O HAMAR=A 40,000&*20H 800
04 EM2IHRFL] 4,200 4,200 0
O BPA2HHRFA 350,000& 122 4,200
MBS 2R 111,530 111,530 0
SclEHE X Z | 103,530 103,530 0
ScletyEs2y 103,530 103,530 0
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